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I.  Glve very short answer : , \ 1x12=12
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(@) *“The premises of an inductive inference offer certainty for the truth of the

conclusion.” — Is it true ?
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(b) Which of the the following statements is true ?
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(1) The law of causation is a material ground of induction.
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(ii)- Obscrvation and the law of causation are the formal grounds of

induction.
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(iii) Obscrvation and experiment arc the formal grounds of induction.
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(iv) None of the above statements is true.
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(¢) “Observation is finding a fact and experiment is making one.”” — Who did

say this statement ?
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(d)  Which one of the following statement is incorrect ?
[[RlE (FiF Ofeh Siwm e
(1) Observation is a perception with a definite purpose in. view.
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(1ii) ‘Observation is not a perception of events under natural conditions.
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(iv) In observation, the natural events are not fully under the control of the

observer.
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(¢) Which is the last stage of hypothesis suggested by Mill’s definition of

hypothesis ?
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(/) What is the meaning of the condition of ‘testability’ of a valid hypothesis ?
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(g) “When heat is applied to ice, then ice melts. When heat is not applied to ice,

then ice does not melt. Therefore, heat is the cause of the melting of ice.”

Name the experimental method employed in the above argument.
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(h) *““The possibility of the doctrine of the plurality of causes cannot frustrate the

method of agreement.” — Is it correct ?
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(i)  Who among the following philosophers is not an idealist ?
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() Berkeley-
(11) G E. Moore
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. (111) Bradley

SR
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(7) Name the philosopher associated with the statement — “Thought and Reality

are at bottom identical”.
“oar e el ke wfen” — @2 SfEfa v wfve wrfes am e 3

(k) What is the meaning of the Latin word ‘Religare’ ?
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(/)  Mention any one similarity between Religion and Morality.
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~ State iwo points of difference between deduction and induction. 1%x2=2

S
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. 3. Decfine bad analogy with suitable example. - 1+1=2
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4. Statc any two characteristics of analogy. ' 2
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5. Define material cause with an example. . 1+1=2
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6.  Briefly explain any one criticism against Mill’s paradox of induction. 2
e e ReEasier Keoa @ @) 910 AINCEG AR Al 1

Or / F2q;

Why Mill’s paradox of induction is said to commit the fallacy of petitio principii

or fallacy of arguing in a circle ? 2

[N)

7. What do you mean by a working hypothesis ?
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8. Bricfly explain any one condition of a valid hypothesis with the help of a suitable

cxample. 2
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9. Why do some logicians regard the method of agreement as a method of single

agrecment ? 2
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10.  Give a concrete example of joint method of agreement and difference.
e sr-gfeEs! adarmn s a%< Smzd mie |

11.  What are primary qualities ? Give example. 1+1=2
27 @ St /52 Twizge wis |

12. Briefly express any two characteristics of objectivc idealism. ' 2
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Briefly express any two points of criticism against objective idealism; 2
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13. State any two essential characteristics of religion.

2
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14.  What is induction ? State swo differences between deduction and induction.
2+2=4
S FCE G012 FalsE @ S W 5776 #Nd S |
15. “All infcrenc-es are analogical at bottom.” — Explain the sighiﬁcénce of this
remark. ' 4
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- 16. What is a condition ? Briefly explain positive and negative condition with the help

of suitable example. 14-3=4
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17. What do you mean by fallacy of mal-observation ? Distinguish between individual
mal-observation and universal mal-observation with the help of suitable example.

1+3=4
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Distinguish between fallacy of non-observation of essential instances and fallacy of

non-observation of essential circumstances with the help of suitable example. 4
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Distinguish between explanatory hypothesis and descriptive hypothesis. 4
GRS 2665 8 TNFRP SeCae Wk 214 Fierelel e |

What is a crucial instance? Briefly explain a crucial instance obtained by |
experiment with the help of a suitable example. 2+2=4
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vBeE Raca A=A [ 1|

State two advantages and fwo disadvantages of the method of difference. 2+2=4
Jfetas] aEE 7fF JRd e 75 sk S

Or / &24]
State rnwo advantages and fwo disadvantages of 'the method of residues.  2+2=4
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What do you mean by naive realism ? State any two differences between naive

realism and scientific realism. - 24-2=4
HEE] A% FeI0S G (I 2 FES IREIAM 8 (RS AT G AR (I (I 7io
A12[ T
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What do you mean by naive realism ? Briefly express any fwo points of criticism

against this type of realism. : . 242=4
T JFT TS B @R 2 AT A ABIAE Reeta (¥ I 115 TR AR
U B

Briefly express any four characteristics of naive realism. 4

T TG (T (Fio 571G (QRR AEweel @Al |
Or / gt

Briefly express any four characteristics of scientific realism. 24

RS AR (T (B 51 @RS R S e |

What.is habitual action ? Why is this type of action regarded as object of moral

Jjudgement ? ' D+2=A4
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z ofine the method of agreement in your own words and give a concrete example

of this method where we proceed from effect to cause. Why is this method called

pre-eminently a method of observation ? 2+2+2=6

ol e SR S e @ FC ¢ B Amieod G AT Tnigge 18

1S Sl < (T T W 22 | i 2B o YeTer IO 2ol <1 23 ?

Or / 97

\
Define the method of residues in your own words. Why do some logicians regard

this method as a method of deduction ? Explain. 2+4=6
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25. What is Berkeley’s subjective idealism 7 On what grounds Berkeley has said that

primafy and secondary qualities are inseparable ? 2+4=6
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Or / 24

Critically discuss objective idealism of Hegel. 6

(ST TEEY SRAIME STREGAS a5l =5l |

Briefly discuss any three of the different elements involved in the mental stage of

voluntary actions. 2x3=6

Afes T T=FR @ A Bien ST 7 e ity R kel
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What do you mean by non-moral actions ? Briefl explain any five non-moral
Y ¢exp )

actions. | 1+5=6
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27. Critically explain any one of the following VIEWsS : 6x1=,

ﬁ@@ ouf (A (@ @ 93ba TEE FCEDAEE TR FE1 8
(i) Religion is the source of morality.

4 27 oot -_'@QFH
“(ii) Morziliiy is the source of religion.
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(iii) Religion and morality are independent of each other.

45{ & (forel w77 73 |
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